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PART A: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each
| sentence. Then mark the correct choice on your answer sheet.

1-  The book was -—-—----- by a panel of experts, working in conjunction with the publisher.
1) revealed 2) compiled 3) intervened 4) attributed
J2- In Canada, drug users belong to high-risk insurance —--------, |
1) entities 2) features 3) categories 4) structures
3- The victim was able to give the police an -——-—-— description of her attacker.
1) accurate 2) ultimate | 3) identical - 4) equivalent
' 4-  The government passed a law to promote the -——--—--- of blacks into white South African
society. | |
1) integpation 2) foundation 3) coordination 4) adaptation
5- Small businesses often have great difficulty in ———— credit from banks.
1) detecting 2) obtaining 3) pursuing 4) depositing
) 6- Feminists say that the book was written from a male —---—---,
1) objective 2) inspection  3) perspective 4) presumption
07-  Violence is just one of the many problems ---—-—-— in city life.
1) explicit 2) empirical 3) available 4) inherent
8-  Legal requirements state that working hours must nof ——=---—--- 42 hours a week.
1) assign ~ 2) exceed © 3) utilize 4) undertake
9- The Highways Department is responsible for the construction and -—---—— of bridges and
roads.
1) equipment 2) adjustment 3) manipulation 4) maintenance
10- Maxwell’s responsibilities ~-------— yours, so you will be sharing some of the work.
1) overlap 2) affect 3) identify 4) coincide

el

| PART B: Grammar

Directions: Read the following passage and decide which choice (1), (2), (3), or (4)
best fits each space. Then mark the correct choice on your answer sheet.

T r—r—r=

Since water is the basis of life, (11) --~----- -- the greater part of the tissues of all living things, the
crucial problem of desert animals is to survive in a world (12) --------- - sources of flowing water are
rare. And since man’s inexorable necessity (13) ------—- -- large quantities of water at frequent
intervals, (14) -——----- comprehend that many creatures of the desert pass their entire lives (15) -—--
----- a single drop. '

11- 1) composes 2) composing 3) it composes 4) that composing

12- 1) which 2) that 3) there 4) where

13- 1) is to absorb 2) of absorbing 3) that is to absorb 4) is absorbing

14- 1)scarcely he can 2) he scarce can 3) he can scarcely 4) scarce can he

15- 1)for 2) from 3) upon | 4) without



PART C: Reading Cumrhensiun

Directions: Read the following three passages and answer the questions by choosing the best
\choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

Passage I:

The managers responsible for industrial production require an enormous amount of
assistance and support because of the complexity of most production systems, and the
additional burden of planning, schedulmg, and coordination. Historically, this support

was provided by industrial engineers whose major concern was with methods,
standards, and the organization of process technology.

Industrial engineering originated with the studies of Taylor, the Gilbreths, and other
pioneers of mass production methods. Their work expanded into responsibilities that
now include the development of work methods to increase efficiency and eliminate
worker fatigue; the redesign and standardization of manufacturing processes and
methods for handling and transporting materials; the development of production
planning and control procedures; and the determination and maintenance of output
standards for workers and machines. Today the field is characterized by an emphasis
on mathematical and computer modeling.

16- Which of the following questions is the one which paragraph 1 is mainly attempting to answer?
1) What makes managerial work as complex as it is now?
2) What is the historical development of industrial engineering?
3) What distinguishes a manager from an industrial engineer?
4) Why are managers in need of help from industrial engineers?
17- According to the passage, all of the following are part of the extra work complicating a manager’s
responsibilities EXCEPT —--------,

1) scheduling 2) coordination 1
3) the burden of planning 4) the organization of process technology
18- The word “originated” in line 6 is closest in meaning to —-----—, '
1) stemmed 2) proceeded 3) fostered 4) established
19- Which one of the following best represents the rhetorical function of paragraph 2?
1) Classification 2) Definition 3) Function description  4) Chronological time order

20- Which of the following does the passage allude to as a recent concern of industrial engineering?
1) Mathematical and computer modeling
2) Ways to handle and transport materials
3) The development of work methods to increase efficiency and eliminate worker fatigue
4) The determination and maintenance of output standards for workers and machines
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Passage I1:

21-
22-

13-
24-

25-

26~

In addition to systems engineering, it is important to define systems themselves. The
systems with which a systems engineer is concerned are first of all man-made.
Second, they are large and complex; their component parts interact so extensively that
a change in one part is likely to affect many others. Unless there is such interaction,
there 1s little for the systems engineer to do, at least at the systems level; he can turn
immediately to the components themselves. Another important characteristic of
systems 1is that their inputs are normally stochastic; that is, the inputs are essentially
random functions of time, although they may exhibit statistical regularities. Thus, one
cannot expect to foresee exactly what the system will be exposed to in actual
operation, and its performance must be evaluated as a statistical average of the

responses to a range of possible inputs. A calculation based on a single precisely
defined input function will not do.

What does the paragraph preceding this passage most probably discuss?

1) The parts making up a system 2) What systems engineering is

3) The importance of systems engineering 4) How the concept of ‘system’ came into being
What is the passage mainly concerned with?

1) Features of systems 2) System engineers’ various concerms

3) The importance of inputs in defining systems  4) Interactions between the component parts of systems
The word “extensively” in line 3 is closest in meaning to -—---—--.

1) closely - 2) largely 3) intricately 4) interchangeably

The word “others” in line 4 refers to —--—-.

1) change 2) system 3) part 4) interaction

The author states that you cannot predict exactly what a system will be exposed to because of the
1) unreliability of statistics 29 nature of its inputs

3) complexities of the operations 4) great number of interactions involved

The word “do” in line 12 is closest in meaning to ~--------- . |

1) define - 2) perform 3) work 4) serve

Passage III: In looking for more recent and more specific sources for the systems approach, on the

other hand, there are two in particular that stand out. First is the general field of
communications, particularly commercial telephony, where systems engineering first
-appeared as an explicit discipline in its own right. Traces of the systems approach are
to be found in telephone engineering at least as far back as the beginning years of the
century, and systems ideas were fairly common in telephony by the 1920s and '30s.
When Bell Telephone Laboratories, the research arm of the American Telephone &
Telegraph Company, was officially incorporated in 1925, its two principal
engineering divisions were called respectively Apparatus Development and Systems
Development. A complete formal doctrine of the role of systems engineering,
however, first emerged in the years after World War II as part of an effort to redefine
the policy and structure of the research and development. This doctrine set the
engineering effort on a level of logical parity with the research and development
efforts and made it of almost comparable actual size, at least with research. The
systems engineer had a multitude of functions, with special emphasis on effective
utilization of scientific and technical advances in planning new communications
systems. This particular set of ideas, of course, reflected the special needs of
telephony. Nevertheless, as an example and a point of departure, it had a wide effect.

It seems to be one of the reasons why so esoteric a subject as systems engineering
advanced as rapidly as it did.
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The passage is discussing the systems approach in regard to its -- -
1) effects on other disciplines 2) areas of inquiry it involves
3) functions | 4) genesis
By “two” in line 2 the author means two —----eeeev,
1) fields 2) sources 3) systems 4) approaches
Where in the passage does the author start to discuss the second source of the subject of the passage?
1) Line 4 2) Line 7 3) Line 10 4) Line 14
According to the passage, all of the following are true about systems approach EXCEPT that it -------.
1) progressed at a slow pace 2) is very specialized
3) fulfils a mvriad of functions 4) can be traced to the field of communications



S axio

Il 51 ogac oob)

X

teal olus lim x X
X—r)
\

il %7 e o0 (Y Y O
c

Sl plas :EIE f(X) S 0 guo « f(X +_y)=f[_x)+f{y_},x,y ER s () =Y bbb 2wf:R—>R &b

¥ (f Y \ (Y o ()

Sl plus x' +yf <¥P anb o f(X,y)=X" —yf &b Gl pos o0 g posnsSl

¥ 4 ¥ (F o o F (¥ “Y oY (¥ -f 40 ()
?Cﬂiiﬂjﬂﬁ}‘}f Iﬂ-.t.f g(1)= J.I dt i X220 EE‘:'JFJ‘:'
° cosht
g(x) =tan”'(e*) (v g(x) = tan"'(sinh x) (\
g(x) = tanh™'(e*) (¢ g(x) = In(tanx) (v
‘f-:-mI,nIJS'}'=1_+ - Lﬁ:ﬂmjy=l?hi¢hyjjm¢3&iljwhu
X
T \ T \ : n
— = (F — = (¥ =y ()
X K e ¥ Y
?M‘FIﬁhxjﬁngy:E-EIiﬂi‘}ﬁMLua
TC
— (f X Y (Y 00 ()
Y
\ \ \ \
- + - + ... ()
Iny Invy In¥ Inos
\ \
+ Foee X
YIny vinv
A T T \ T T ia
N i e s e 4 s i i +..0r
¥ 9 W X4 ¥ T4 FFf AV Voo
\ \ \
+ F =+ ... (F
Y(inY)" t(nv)' ¥(In¥)
(= a1
tesl ol D @+ ()Y X" 0 lSen glad adl Col goue > ) S
m=do
a +) \ \ \
— (f — (¥ — (Y —
a—\ a+\ a—) a

MMQUU,)@M}'@HL&)UQEW‘,)L"@PT

Y'Y

-Y¥

-Yb

= Y

YA



: KW W VI { PRy | N el g foww m :
¥ Axfuo I W )0 190y (LA W g P Hj[l_;n}n&,_fdi-j_‘;
dx
?.;.....i,.:.;s.[ - — anal J1, S
Fsin' x+Yacos X
\ ¥ ) R
—tan(—tanx) +¢ (Y —tan"'(—tanx) +¢ ()
\o I Vo b
\ EE S0, \ i
—fan ‘(Etan 'X)+¢ (f —tan(—tan"'x)+¢ (¥
o Vo I

teul b 1= ¥X +0X" —¥xX" 4. | X[ gy £g0me

L1

\-X YX
et g ¢
(+x') Y+ X
X’ . VX
0+x") VX"

-a

)
Xy =€, Xpyy = 0= X =%, w2 Gy b {Xg } o sl eub ol €30, @3 a8
o

oL
Pl |y Ren due plas 4

Yy Yo (v Iy o
Yo o

(¥ —r
Yo —\ : a—)

Sl g0 (Gds9) K B yre dlolns plus

Y Y
X
IS D, z=Yy' +y ()
f 8
z=Y(x" +y) +dx" +y" ¢ z' +x -Yy' =y (¢
Scasl plas £ =) dlimd o X =Yot' , y=1—Yt' ,Z=Ft' —F o5 b
£ (¥ 2 (¥ \ (Y e ()
Y Jr
ol plas {U,'I“DI o3l p f(1}=[1] &b Sile
b (F Do (¥ do (Y £4,0 ()

Sl plif cl oS ES T Ly =SIRE X = €08t gloyhias yuo ¥ ol j2 45 I‘rydx +1tlj( Las 1,851 Hlake

¥

T
jr—{f -x A o ()

¥
X
F ! plus ool jTT=T'I 5]FT=I Slesogw s XY =F XY =¥ sla Jolin 4 sgume i D 3 yo o5 Ij—fdﬁ

DY
\ ' - ¥ 1
s e il ; . | § e,
Vo Yy q Y

MMQUU,)@M}'@HL&)UQEW‘,)L"@PT

-T4



o of ‘su&ia)l.f Qp}TMG«jL& -9 fw)&w

Y azio I g1 cogee ob,
R g s
padoles jlaie 4058 (F =ty 90 daad (7

da

F(X,y)=(fx+y,x+Yy) (¥
F(X,y)=(Xy+Y,YX+y) (¢

- X

Tl HlalS Hlowe SO oloue gl -FA
F(x,y) =(xy,y) O
F(x,y) =(xy,vx—y) (¥

Tl plas blie S 30 O Qglj jlude oy mid -F4

H=£(T ﬁ:E ()
x Y

\
?m‘;lﬂ'l‘=f—ﬂ' , 020 oot y) s sle Jgl 590 ddiwg 4 0l ddei Gl —b-
i

n
— (f = (f
T’

Yo (Y A

MMQUU,)@M}'@HL&)UQEW‘,)L"@PT



A axivo Yool g bl
fowl plas 0wl 7 b OO Jilas aCol Jlaas] ol Oiglize JIs o8 il 51 89l o Ll i g0

Y Y \ \

& i ¥
diged il olaot 33 B 200l (612 0148 sl us Y sualive ST bl il (o, 0) alols 4o i laiss aajei sl Y 81
Sl plus  oslasil

o /98
(¥ L _ o i N
y ofod o /48 y

O3t ks g0 340V U 0 51,55 pudil 1) (650a8slr b (a5 4igni Jor 510,13 3929 ol 150540 b 9 s (50 p40 B (5ldunsS 5

$0 500 plxil Wb (5 diged Jos Hl Wz lauwgio joky sl
a+b b
e (Y =~

d
v =1

N ) a a+b b
Jl_n;;ﬂ-r.w:_l#m_b JIJ_'I- U:u_-lnj! Tt ) l} l.:.'!T axlas Caateoy Wt i = J.u'ﬁl!u.n e Gt d.iln‘-_,l.i' () QLL:I,; vt 33 do oS '_-FJJ'
doed 1ol 48,8 )15 bl o jLgo glaxks il o duo 0 V0 g ol b 9 pbw 3l pel Oladad adS jo blé il
Tl s Al pllo 35 pao fulojl doemi ST Jlazs! WBl askid (391 Wllo Jal hule;]

AY & 4 A
ik = o ==

joo ‘o Vo AY
Ol (| s o g gt Cyaiilo i 1)1 1Y O g pakd Jie gl YT o el cpdle glylo reslgils VP o dnals S o
99y Lol paseds Jyin b cadd oradle glyI eolgils opl a5l Jlozol ogd Gl ansls ol 51 Bokal & sloolgils 81 .wizun

L Ilrl-l.f d.::l.u-'

oY (¥ o/ (¥ oY (¥ °ol¥ (1
feast plas PO/ YFF <(X—V)' <Y0/045) juie. X ~ N(Y, ) s 5
eloYh (f ofYd (¥ ofod (Y ; oloYh ()

\
Sl plas E(X|X{?} Jaio X ~Ufe , 1) aws 5,8
( \ \ )
= (¥ . (¥ ; (¥ % Q
Jiaist10 o 4y Solal digai S5 33 pailis S1.08L B uilily 9 ¥ puilue b Jloy 0595 g1yl X Bolal yaiio uuiS 55
fowsl plas K jladin Cojgo oy 50 ccanl 0 NOAY U pil s adily 1205 K 31 digai Jawgia 450!

Jr Y v
T+—T-'- (f Wy O T—-{—{T —J":{'i
; d
Fouwl plas ya130 0,99 30 p 98 & 5 opaSilae WL TLFF o 1Y) i 7 4 p 97 & allgd 090 S Jab 4o 4T
AR A ART A AR AL Yo (A

L gy 22397 (61510 X) ol 1 Caolin 1 amy couStils oS5 4 4535 8 Juolgd 10 odansy sili Shasi ;b Lei X 0l 59
PP | fl-.ﬂ' A ,.':.nl;.L; ru-n-_t_;ln u.!.ld.‘hu_;a a_;_ﬂﬁ tﬂjhﬁlmud.ﬁu-ﬁ'lf ,_:.-}Lu'iﬁ.{h:w'l A }-'-'.ﬂ_;ll
‘1Ti1i1iTrfiu l'ﬁln :-1'111‘:

W v W 7
= (f — ¥ — (¥ =0
Y - 2 \Y Y

x
13 Gl &yl f(X) = v s B<x <y Jlosial JLE> il o x50 51 glT & Solad aisei S slpa il
-0

\ N ¥ %

?l:uu’lrlﬁf'ﬁ dmjﬂﬁﬂ#ﬂjﬂg l,— g gy e

L T T

— (t iy — (v =4
Vo Vo Vo o

X

1' S
ol alold Sy (o, KX) a.l_.au,Jl...:._..,tf{x)=Ea 0, X>o Jis ald oy gles dokas puiie Sy X
teunl alas K ylade iy O glytoo (1—a)7
\
—_— (Y
In() - o)

—

m{f =In(i-a) (v

In(y—a)

a3 digei Fo wlailiwl a5l i diged YV 00,5 o0 adlin g pus o0 Ol dolai jaky digei 10 0 Slusi udei bas S I
Pal S & ylilinl ao 50 aulei o (5l gnt 7T 14D (yLsade! o3l S iloud ule 3 laibiwl as 315 cyuals Bl 5 0y lasbiw
Vr v . P £y
) (F =) — (k- (=)0
Vo \o Vo \o \o Ve \eo

(\x

-FY

-FY



s .o . 7 S o o o

: Ay i s 4 Y ; . ; T i i
SrsSojlail gy 93 olul 52 035 0 G953 T g B Jate ilyly 3 peSilo b Jloy 20597 31 (planads 00le S (pals w0
sl 0] Cawsd 4 5 SleMb] ads  oliowd ssle opl pals oy
“1=Tﬁ E..:‘p:- 5.!=f'

y =Ye Xy=18 Sy=A

;
LW PRRY 4 ﬁ—:, &l 130 Lokl alold
Oy
. l1=(~w=t Y¥,0/4Y0) | (¥ : . ()
YF(Yfpa,0/av8) v F(\4,YF,0/ovd) ~ F(14,YF,0/4vd)
: ; lF(ﬁ,Tf,-:Hm) (f : . i 1
FF(Y¥,19,0/4Yd) ¥ - | FO 8, Y%, 2/4Y0) F(vt,14,0/070)

Gl pytnn shadn Sy O 49l il Jiane (30l i 39 Xy ~ N(By ,67) 5 Xy ~ N(By , 67) uis (53
Wl X:r +X; 2C ppda Jlyow ausl S psmaHy = H‘I +H$ >o Jlis o H,:0,=0y =0 03] 41 wiaddle
(bl @ =0fod (you yls Sao mhw ) ol plas C Hlude

Y/YYA

YIYYA (F

YAYAG' (Y olod) ()

u,uL.-alHL,..L_-QLHJ.;-}E-gYnﬂnMLhﬁélhgﬂMgﬁ.Y={l+BI+E oolw Jas yguwFy Juo S j0
TOWE TR ‘G SRR COUNPYSPIOE SN RT-PRROWR Y | o 3 P [P UEER B2 5

Ty >o/F (F Ty <O/YF (¥ o /Y <Iyy <o/f (Y Ty =°/1F ()

t(\#,0/oYd)=Y/VY 5RT =ofY i uyp g B=YA SIY =0 +PX+E Ojge a4 oolu s auem sy Joe S 0
fowwl pame a0 3 plas ofo b oy ls Sae xlaw o Wil

S0y PEe Jlas o, P=o a3 (Y PS03y A FO Jlie pl, Q=0 45,5 ()

3,5 i bl ole cad 39250 DMl L (¥ S s 0) PFEO i ol p=o 43 (F

Sladia g ol 423 A LIFF by il (SSE) leoailesdly Slayye ggama 151 jlans & dumlis sy o S0bai Mol gidalajl b Sy 5
b Canl il () ool slaasly 5 sluiad ¢ (SS¢) lojless Sila po £ gapme olGT il ¥ yg03] o)led
n=1v, SS;=¥YA(f n=\v, SS;=YAT (" n=1Y, SS;=vAt({® n=\v , §§5;=vvA (

Wiloid aodS 15 Jadar 53 1aedld ilos)S dalllas Jauame 3,5hos (59 1) AI09S Wikie £ ybias i1 (65)slisS axdllan S 5

B| C |

S A
Caiils ) Yol
e P PRSP .:,‘-Lg \ Y 1.
PRIV G

Vb (F VYo (Y Y (Y ¥

il 1§ Oypea draler wiz GoeSilie 500 903t sl 51800 5 Sy (295

Olyaaii g | o031 oy S8 M B Pl
Uogsf o N YARIYYYA | VFYINA | VVAAF | o/YYeF
“og,S S5 " Yol/AVEY | WAIBAPA
Js 0 Y¥oolYooo
P! plas e 4035
il 00 3, @Y g 0fV 2o 40 el 58 (T ol 00l 3, 0V mhaws o i 258 ()
ol 002 35 010D Al 13 yao 2, (F ol 80l 5, OV Al 10 jie a3 (V

MMQUU,)@M}'@HM}UQEW‘,)L"@PT



~ ” .

-

3

.

.

ol o

s

4
"

Wyl 90

)‘ss*"

&

15

Proh shiiny P

Frali uelliey
T ————— — - = - 'y
2B s ke ) e s il yas polie S8 e )5 s pplie
z 1 onl .m m n 04 ns N6 | 07 ] 08 | .00 df { .10 | .05 ..____“um Rl 05 dha | .995 9990 975 050 “_..._u_.___ 025 010 D05
- - | 6.6149 TRTS

50 | 3000 Sonn v | 3078 | 6314 | 1271 | J1R2 | 6366 1 465 | ooo0r | 00009 | 00039 | JRA14 | 5.023 i
ol “ 308 .MH“_ .mmua ;“Mw M”W ;MH L“M“ .w.mww wwﬂ wwmw 2 | vams | 2920 | 4303 | 6965 | 9925 1 onin | onz0t | 0.0506 n.___ﬁ“ wwﬂ ." “ “HH ...“.._u.ﬁm “w.”wn
02 | 573 | 5832 | ss71 | s010 | s0as | 5087 | 6026 | sosa | w103 | s1ar SO o b Rl Bielll Rosind 2 o o P L aner Lases | iiee |oem |
03 | #179 | 6217 | 6255 | 6293 | 6331 | 6268 | 6406 | sady | gm0 | 6517 4 | 1533 | 2102 | 2776 | 3.047 | 4004 . ol Bl B Bopn Gl Sl o | 12832 | 15086 | 16749
04 | 6554 | 6591 | 6628 | 6664 | 6700 | 6736 | 6772 | 6nom | smaa | gare 5 | 1476 | 2015 | 2571 | 3365 | 4032 A o pamly RS Vian: Vadae | uae [aman [oge
05 | 6915 | 6950 | 6985 | 7019 | 7054 | 70me | 23 | 7es7 | 7ie0 | 7224 A et BLe Wil i 0 $ Dk foamu oSl |2 lies e |Lomes_ | e
06 | 7257 | 7290 | 7324 | 7357 | 73m0 | 722 | 7asa | ress | 7517 | 7549 7 | BA15 | 189S | 2365 | 2.998 | 3499 2 08 12390 | LGNER, | IO 15507 | 17.534 | 20000 | 21.954
07 | 7580 | 2611 | 7642 | 7673 | 7708 | 7730 | 7764 | 7794 | 1823 | %2 8 | L85 ] LN 2306 | 2996 ). 3333 . il B B ”.dﬂ 16018 | 19022 | 21665 | 22589
o8 | 7881 | 7910 | 7939 | 7967 | 7995 | moz23 | most | mo7e | smios | 13 9 LG ERES ] a8 | 121 | 3.0 : b [RoAm. | AN LSy | isasr |goam | pase |isne
09 | 8159 | 2186 | 8212 | 238 | 8264 | 280 | 2315 | 8340 | 8365 | m189 10 | 1372 | 1812 | 2228 | 2764 | 3.169 B |2 | | A e L sy laieie | B (oo
10 | 8413 | 8438 | mass | Bams | msos | #s31 | sse | 8577 | ases | seai U | RINSL LTSS § B30F ) 2718 | 2006 B 13 1o iy lsnm | s [209s | 262w | aiaes
1.1 | 2643 | 8665 | 8486 | 8708 | 8729 | 749 | 770 | 8790 | .8mi0 | se30 " “ww“ ”Hm S R wwu_w I wﬂm 2 lsooar Uisstn | zmaee |aems | zemm | 35am

] Ré ' . _ : : : 1.319
13 | 2052 | 9045 | 9066 | 3oz | 309w | 3u1s | arse | srar | wvez [ swra | || 18] 0348 | vrer | 2uas f 2ere 2o | [l ue o |asoos | serwr | esms | men | BAR | 08 | g
1a | 9192 | 9207 | 9222 | 9236 | 9251 | 9265 | 0279 | 9292 | ‘9306 | 3o B | 1341|0193 | GEA | 2002 ) 2260 i i bl Be ,__a 16 | 26206 | 28845 | 31999 | 34267
ol Koty iEbpo s Bl Rril (el 8 Bl Rorvlll Bchied B’ - 16 | 1337 | 1746 | 2120 | 2583 | 2921 o [si | san Jesoms |76, | 2620 | Ambas | eS| IR
16 | 9452 | 9463 | 9474 | ousa | 9aos | osns | 9s1s | 9535 | 9535 | osas 17 | 1333 | 1L740 | 2110 | 2567 | 2.898 1 5697 | 64077 .....ua“_ L L T e i e
17 | 9554 | 9564 | 9573 | 9582 | o501 | 9599 | oens | sk1s | ss2s | 9633 > eyt “.hh e w"ﬂ . ] tier | s Vasia -1ages -} s u“.w“”
LR | 9641 | 9649 | 9656 | 9664 | 9671 | 9678 | 9686 | 9693 | 9699 | 5706 ! 7 . g : 907 10850 1410 | 34069 37.566 39,

ol : : 20 | 1325 | 1.725 | 2086 | 2.528 | 2.845 20 7433 | R2604 | 95 41.401
20 | 9172 | a7m | 73 | ‘o7as | 5793 | ‘swes | 30y | saos | w2 | swir | [ |20 | 1323 | 17 | 2oeo f2sus fam | g par jsoss |msem2 |loze | aiss | 3263 RSO | 2000 | %
21 | 9821 | 9826 | 9830 | 9834 | 9838 | 9ma2 | 9346 | 9850 | 9ms4 | 9857 33 [n3at |LINT | T0M ) LIRS o o i1ssg | voso | 3sim2 | 3sors | arem | eaam
22 | 5861 | 98ed | 9868 | 9871 | 9875 | .4n78 | 9nm1 | 9mma | 9387 | 9890 B3 AR ) LA RS | A 1| S ass | 3ea1s | 39364 | 42979 | 4ssss
23 | 9893 | 9896 | 9398 | 9901 | 9v0a | 9v06 | 9509 | son1 | 9913 | oo1s 4 | 1318 | LTIY | 2064 | 2492 | 2.097 34 | EMECL ORI | 12400, | 994 37852 . | 40646 | eadna | 46927
24 | 9918 | 9920 | 9922 | 9925 | 9927 | 9929 | 9931 | sea2 | wen4 | 9936 35 | Jame ] hNa | 2060 | 248 | S i . | e [WAEE ] DA § 8885 | 41923 | 45641 | 48289
25 | 9938 | 9940 | 9941 | 9943 | 9945 | 9946 | 9948 | 9945 | 9951 | 995 2 310 | 103 205 | 2473 HH o 0 ““_“ﬁ 157 st | aoars | avisa | aese2 | 49sac

: _ : : . . 99

20 | 9945 | ovea | 003 | Soen | 5oes | oam | ooy L oom | 2om | ovas | [Qon | 1o | ot fomes {aam jaaes | {12 [Ea} it Lisad (s o |4l S5 | By
29 | 9981 | 9982 | 9982 | 9983 | 9984 | 9984 | 9oss | 99ss | .oss _,_Eum ™ ol AT o . , ;

30 | 9987 | 9987 | 9987 | 99em | 9988 | 9989 | 9989 | 9989 | 9990 | .9990
3.1 | 9990 | 9991 | 9991 | 9991 | 9992 | 9992 | 9992 | 9992 | 9993 | .9993
1.2 | 9993 | 9993 | 9994 | 9904 | 9994 | 9994 | 9994 | 9995 | 9995 | 9993
3.3 | 9995 | 9995 | 9995 | 5996 | 9996 | 9996 | 9996 | 9996 | 9996 | 9997
14 | 9997 | 9997 | 9997 | 9997 | 9997 | 5997 | 9997 | 9997 | 9997 | 999

S -
— =
. L T P e e v Sy P v e e e o p—if|

oy g

*
*

s)éﬁ)'w’“)wglﬁyb‘s)

*

MMQUU



Wt A A A A R A A A A A S A A A A A A A A A A A A

& vrvwy
L AAAAAANAAIAAAAAAAIAAAAAAAZA A AA A g

o

TN o RN e e B i b e Pan® Pl o W Y F ¥ WP ¥ ¥ ¥ W¥ ¥ W P W .¥ W ¥ W ¥ ¥ ¥ ¥, ¥.¥ ¥ T
A A A IR A A R A e

4 S - .

LA A A AR A
B R R R

'b"'lr"l-‘b‘h"l-‘l-"b"b"b"Ir"'l-"i-"b‘b‘l‘i‘i‘b“b‘b’\-‘!"'Ir‘I"l-‘b‘l"b"I-*h"'lr"'l-"i-'h-"r‘l'b"!'h-"h-*'l-"h-"I"h-"h‘h-"I-'h-"lr"t‘h-"h-"r"'r'l-"b‘i"r"'l"I:'lriia‘{a*a%%q{:ﬁ:¥¥t¢¢¥t%t&‘t&a::%“:kk&%&kﬁk%k&%&ha*{%k%*x{tﬁa

ttt‘t‘%‘fﬂi‘"ﬁ\-‘Ir"h-"'I-"i-"h-"i"h-"‘l"h‘l-"h-"h‘i"i‘i‘i"h‘h‘h"h"'h-"h‘i‘i"h'h-"'h\‘l-‘h‘l‘h"i-"h-‘h‘H-"h‘h"'l‘i-"'lr'Ir"'b"h-"‘h"h-"h"‘b‘h-"h"-‘h.\-‘b‘h\-‘i‘h"’l"i"h‘h‘i‘h‘n‘h"!h"i".-"h-"h'h‘\-‘b"'h"h\'h"‘-"-‘y‘i‘b‘h&h‘u‘h‘-‘h\‘h\‘h‘u}‘:‘h‘b‘b‘h‘i

A A
i e o R
o'y .3 g I - | olBlils S »
M el B
TEERY g ¢ TR TS ) A2
Eﬁ‘ﬁ‘ﬁ Y o kol 4> b I i A
® E
Y g M R
atain] ™ ; sl T ¥
Sy UE (62350 5 ik 1l AReen
X - ¢ SLEN BAAAAL
ST APIVYIY : AR
Ferreel s gl o Dlajle PR
Y J I e S 2A2A8N
¥
e
Xy [ )y N
B O848 3Gl s | RuR
PRSI 6 s J’ UF ) 2A4354
L A AAAA A ALA]
BRI RN
LA AL o ‘ - u - ' . o “ A A A A A
LAAAAAA] A A A AR
fee 19 gl i g1 (ol )5 slvo g0 S
L
wiee’s’ )
5
BTN TR
oA A A A
SRR AR
e [ A Al
L AAAA AR r‘l‘h‘l-"h'{"'l
S AR
h A A A AN
A AAIAA A AAAAA]
b A A A A
A Ak ) A A A A
Ak ] S s —— PR
e (" A A A
A DA A A
SRR ! s 31 ass . T Lo - TTON
BN (oloit (3La! Slbmimm (guitigo § (590 4 § piaw 4 ko) (WD (WG TR
TR BN
TR (\Y7+ o) R
A A A A
el
SRLTeNN ) R
g\ Than
Y R
A A AR
B T
(A A A A A A
PR A
PR TR
b A A AR LA AR
L AAAAAA] r‘r§‘r‘ﬂ
A2 A A A ] AR A
A AAAL
S R
A A DA A A AN
LA A A A
Mt IV
LA A AAAL '{%‘{"{h
933498 IR
9554954 h
Y A A
A A A A A A A
A A AN A '::E{E{‘l
b A AN A »
A ARAA] -Jgs 4 o e i PFIINY
Eﬁﬁﬁ SY 1w 0 3lows g Sl ¢ Jloiel Blge 4lgas ﬁi‘-ﬁ%
L Aaaal & B %y 5 P o = LA AL
S s | wind SRR osd il | R
¥
PR 7 3 7 = 595405
PN Yoy V! ¥ (Pnse o 4 Lo Jlout) gryes Slaglae| | NS
b A A ¥
LA AAA] i o LA
N 1 2 ke o™ eyt | ¥ RN
A A A 3 F'r‘h-"ﬂr‘q
RS Y- "W Y. V Oldes )3 G | Y AR
ot A AN
R AR
BRERY AR
BTN Avee
BN RN
FrEee) h‘{‘{{‘{‘q
TR Y
BRRREN RN
(A A A AN
W R
S . EEEEYY)
e IFAP J olo dida R
»
VISRV - BRI
b AN A LA AR
TN i ag Pt 30383
PIPENTY A3l o5 e s udle 5 eslazl A2233%
YR Bty T SRR
S ) AN AN
RN Y
SR AN
A A A
BRRRER AR
IH!.'I"I‘\.‘_ L e e, S

L A A A

-

L [ h K R N L L R R R R R B A AL U R L LR, g s 00y g e, ", ‘."“.‘\
BRI E E  E E  EE EE E E E E E E E  E  E E E e E E R E E E e e e ey D L L L L G L LG L G

%
1l'\:‘l‘I-".*‘"I'*F'h‘b"“b‘i‘b‘i\"h‘"r‘i‘*ﬂiﬁ*ﬂi‘b‘bﬁ'h'b"l-‘l"’l‘-‘b‘i“h"l'*l'i‘l'"ﬂb‘i‘h‘i‘lﬁi‘iﬁiﬁ-‘I"Ir"ll*h-"I"l“b‘bﬁ'&‘“ﬁ"ﬁ‘*“i‘i‘“‘*‘l'*‘I**I:'I*i{‘t&k&%&%‘{t‘{'{;E&t&t‘{t&k&k&t&t&;
A3 2200 AAA AN AAAAAANAIAANAAI AR AAAAAALASA LA AAANA ML L0 A AL 2

24404441490394921939900990909994 94949

e e e e e e e e e e e T e e e e

A A A AN AL AN AN
A

e o e e e

.

A e A A A AR S A A A
SR

e e e e e e

A At A A

i i ol e e e e

IIAAIIAAAAIN

FESIIIIIIN



ldxio i 31 w3 (19031 (i b s {5, 1o Jiluws) onec Colaglro

?"':“"*"::" IE*:*-!J:',J""l!j"‘:‘l'_ﬁ#ﬂJl‘:"_jdl:

Jould (F pls (¥ 59t (F 29 ()

fluw] ailziylyg plos Al ;5 S Caaduo 30 5310 0 0 g drwy wbias

S5l S 9 oySnea (T il piS g ol (Y S agkaS el (Y Sy gel, (0

' 0035 oo ol pdxs & i, by a9 e baaigi 7 yb
Spyabiyp Je gljed— ulos (Y Sdgs — cdgs ()

Syl Jle glyss — g (F elzee = Sdgo (F

fogu o0 Cgmma (LAaS Sloby) o3 25 S Sl P 3 Seolus

oyes (oly> ki g, (F SNl sl flogai (V2L glaJge b g, (¥ bl Jahar O

03500 oo JUuy Fo 0 0 piew 38 (6l (pommedl Sgus awl JUy F0 0 0 090 leil 33 3 Ao o 0 0ye0 sl o plows Censd
:jl t:mh:rjl._-.c ‘sj’rﬁfqluf.u

LYo (Y fbo (Y IXO (Y 1Ye ()

Pl G jles Flles 4y 50

SN Gle s 5t g Sl slaasse (Y 55 30 dsle s a3 ()

Sy oa ool Jyaza 4 Olge Joa (612 45 ghasy o (F A8 0 jlol 5 (5 laSale s glaasysm (V
el oyle Jbo glads i

3k 50 slaply 03 I8 (Y g, auie ()

g oo 43R Sy axly S slonl (gl a5 Jladsy e a5 (F ply 321 glaas; 30 o dS (¥
- Tz glojlw (5590 442 30 Sige (310 Jolge i jglaie
At Sob a5 Lalee (Y W s pois 45 Lolge ()

Wi lojle Cu o 235 S oS Lalge (F At Slesla Sy e 225 Cog a5 Lalge (F
W8 g0 (LS i 37 sy ol (6390 5 45y AT 1390 plas

Sgndr ~ (st S0l — (e ojldl (V il — dgete = 5 S0l = g,aali ()

Sgrdp ~ Sytelin = )l — g pSeslil (F Srytalin = 5 ySojlail = ol | = Sguge (¥

Tl Gl gy g (1055 Cae ps Q3B 0/ VY Sypan Jgs (g1 LS g anly Vo 0 ugobasil jo Joy 4 ye ST

Yo (F A (¥ b (Y £ ()

el Cus b iy 38 51 (o Ly g 42y 35 plas

il pite adgs Jelge 0y 3 (glp oad 3l anja ()

Byl dudei Sl YIS asly S a5 S8y Col IS adse 0 158 (Y

g Pl J yrie as Jule aoly S, oS By ol IS aiin 5 Siall OV

s oLl S Cualge oy g 50 093 DL g ilays g S8y 5l A5 D5l0 0 o IS s golatil Lo 315 S el (glassa (F

255
01 A gyt 3V 3 1y Loy lge 31 ol e zedans oyl psoka
el (F bl | 5 (Y &4 ()
sylapl i oloilw 1 i 9 JuSid ol e
ONS 4 3,5 Slaal iy a5 (F &5yl o gi (7 5,953k (¥ obeste Sl ()
13,15 pl d> 33,8 2o e Glojlw  cwlal Blual 3 gl a5 ol g prancio cpalo doli
S pyaabp (T & Ssae (7 samataz (Y Syl (I
$3gidign Jolo gouy (hjgel 32yb 51 Gleie Glacalad 51 s plus
s )l (F Pl 2l (¥ el &l (¥ skl &)l ()

JE-JRY Y PO SN P TN BRI F g CRPI P [ S

P gl 8 S peaai 2l g WSl (6,55 0l plejle K (590555 5100

5% 5y praal Al g il ()15 528 0bj lajl S (559)9SE ST (Y

P e & pSpeead dl B g 0l ()15 0L Glojlo Sy (399G SH(Y

S aie b (555 pras a2l 8 5 0l (61,86 508 3j plasls K (55909555 (T

75103 59551) 3950 4 1) (Flanadd 00le S I 53l law Sy 4830 FO 42 (9351 a3l )l S o Fliuiond oldylojl Sy 50 Conl ),
3830 4=t (2laond 03le 3 lae Sy wBialajl )0 bypim sl g lamsl )0 59 3 0l 95 50 Cel Aygil gl ol HIS Slelu olaws
SCunl a3ty 5 193515 (39y0 41 (Slasad o3le yaud oo Wiz 651550y S b 33 Trer Bl a5 93T,

V(T % O VY (Y VY ()

MMQUU,)@M}'@HL&)UQEW‘,)L"@PT

¥4

-AY



¥ and iy il yU (3903 T (ol Sl g fud i .

i ((Fyioe ©ylad @ by yo Jiluwo) ngac Claglas
e il Olyedi (Jlaia] JBs b 03ls plonil App £9i 5l 50V g3 diged pulaad (AT (595 &5 (Fliulejl b ol yos (aige SO
Jh;;' .J-:rl-!wl daksi B vaksi oy ﬁi}nﬁ ﬂf'l"":'u:"': Q‘Hﬁ' o guibno ] nﬁjjj W) '_}S.:a &.'I'Lhn IJ {f]; (F} ﬁ-‘-‘ﬁl} ujﬁw

St yudar adilb Fiksi 3| jaS goY ¢d diges Cuoglio asiy)

Py o /74 ()
4 'j:I} ofTo (Y
o/va (¥
n‘rfﬂ"
-+
(ess)

69 J-.'F 9 E atai g JEOF dau sl olyee Lo g Culd EOF dy gl 030l Cuwl asils EOF wali g &g 35 50 O ahi ey SRS o
Sl o ) slaain ¥ 1S plaS 08 (0 S5 2 0 slaplS

el Sl 0 lgan b jadile pdaw Colis Hluda ()

F S o s O abaii Jy> asgly sloghis olygo b gedaw ol (¥
255 N8 g 1l 5951 e o g g agl slagls a5 Sl Slas S5y maw Gl (F

23353 gy oy 99 31 gl slagls 45 ol 2Sla 28y o5 le e Crlne e (F

P39 JolS 00 000 (g U 0o 001315 5D aor Jlos Cuadle gl
a(\

NER bﬂ[} ca

ELO CO—I i
o

-AA



o of wm,b‘ Qp}TMG«jL& -9 fw)ﬁm

Tk P gaall | caus gidali
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M=1-9%2 3510~
X=2*A+M X (¥
I=X/1 3%
Y=X/10%*]**3 38 ¥
REAL RESULT (10,10 -
: (19:10) 455 o ol L, RESULT (1,1) 0
PRINT 100, RESULT g Y sldichy SLRESULT el i gmlin L}
100 FORMAT (1X, 10 E 8.3) o it ot gl plasidy slacs L, SRR (gl s 1
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100 START=TIMER
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120 WEND
130 RETURN
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30 WHILE NUMER < 10 10 v
40 NUMBER = NUMBER +1 11 (v
50 PRINT NUMBER,
60  WEND 12t
70 PRINT “ON EXIT”, NUMBER
80 END
10 DIMAG) tcme 525 BASIC asliyy o3 g2958
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30 MAT READ A 6935
40 FORJ=1TO4 728 7
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R =30 Sga so &dgi )b S HELLO auls (4
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END
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write (‘Hello’); whasss g3 b (6 oz 4sli 232 (F
R:=R+10
end;
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# include < sidio.h > Ao o tas adi ()
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for(i=0;i<5 ;i+t)
for (=03 j <21 ; j ++){
printf(“%d " : ,j );
if (j = 5) break;

# include < stdio. h>

int main (void)

{int num;

for (num=1; num < 11; num +=1)
printf (“%d ”, num);
printf(“End\n");

return 0;

}

# inclade <stdio. h >

int main (void)

{ float f;

for (=1.0; (int) f <=9; =1+ 0.1)
printf(“%f ”, 1);

return 0;

}
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